1

P d

€emo

Symphonie n°2 en mi

[ @ 1O

Francois-Joseph GOSSEC

1= | el

(7]

[ @ X0

[y
(7]

7]

7]

Alto

[ @ X0

>

(7]

¢)

L]

Largo

()

17

l()

[ @ 1O

[ @ X0

27

| RN ¢

cresc.

L]

32

7

38

=D

[ @ XD

pizz.

(7]

| 2

7

[ @ XD

[ @ X0

[ @ XD

n A
7

[1.

arco
[ & X

L]

56
62
71

46

Segue

Le Concert - 1032 Gossec - Symphonie n°2 en mi bémol



Alto

Allegro molto

2

lf)

7

7

K
1

4o
P hH U

vV

-
=

oo

y

o

PPN
|

o
|

_»

—

D

ul

14

arco

8 8

pizz.

22

(7]

2

e

E d > _9®» o 0
i
1

P

P

-

-

?——p——F?

. »

o o

P

Te
Il

. o o &

-

r——p——F:P

-

40

po.

ri

o

~
|

. &

49

[,

56

65

73

[ @]
[ @)

[ @)

<«

Le Concert - 1032 Gossec - Symphonie n°2 en mi bémol



Alto

e e

(VK 74|

[ @]
[ @)

86

«Q
<>

/)
lf)
I
I

17
1]

p=
2
F
|

[y

105

pizz.

113

arco

7

121

«
[ @)

131

LI
el

[ @)
D )

- =

- =

=

lf)

7]

lf)

]
+ b
|4

140

148

155

[
| |
1]
Segue

P

B

Frrrrrr

Le Concert - 1032 Gossec - Symphonie n°2 en mi bémol



Alto

Allegretto Pastorale gracioso - Presto

- o

]
i

e

[ 2

D)
A

&-°

&-°

-

11

20

i

A

-

32

| o

oo

Cr D

oo

o
1

o
1

45

Presto

55

]
1

65

P
|

80

S dar Daar T Ay
£l it e =

(V]
/

<
—

o
1

?

—

96

[}
1

[}
/i

113

-

N
~

129

Le Concert - 1032 Gossec - Symphonie n°2 en mi bémol



